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QT (3597 :
G) @Yt 3o ifard &1 39 g97-99 4 FT 26 T &

(i) SHYIT-UT & 5 Y77 & : U< 3] @IS §, GUS § TS T 3K UL T/

(i) @AY 59578 JUF H1 1 SH 8 @IS T H 5 97 8 JAFH & 2 3% &/

GUETHI2TTE AP & 3 AP &/ TS G H 4 3% P T JoargIka F97 & 3K
QU T q 3 YT & IAB & 5 3F &

Gv) F¥7-U ¥ U W FE [aHeq 761 &1 a9y, q APl are Tk §97 G T A aret
TF 97 4 3R gier 7# gt diqt 599 4 e<aRes 987 gerT R 7y &1 UR gea
7 el feT T 597 H @ FaeT Th §97 & HO &

(v) & EavgE g g [FEfafad Yifae Fadiel & Al # ST W ghd § :

c=3x108 m/s

h=6.63x10"34 Js
e=1.6x10"19C
Ho=4mx10""Tm A~!
£p=8.854x10"12 C2N~1 m~2

1

=9x10? Nm?2 (2
41T80

SFRM I TAAM=9.1x 1031 kg

21 T AR =1.675x 10727 kg

JIei 1 THAAM=1.673x 10~ 27 kg

SMENTET H&AT=6.023 x 1023 9fd U™ |

SeesHM Fadif=1.38x 10723 JK~1
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General Instructions :
(1) All questions are compulsory. There are 26 questions in all.

(i1) This question paper has five sections : Section A, Section B, Section C, Section D
and Section E.

(iit) Section A contains five questions of one mark each, Section B contains five questions
of two marks each, Section C contains twelve questions of three marks each,
Section D contains one value based question of four marks and Section E contains

three questions of five marks each.

(iv) There is no overall choice. However, an internal choice has been provided in one
question of two marks, one question of three marks and all the three questions of

five marks weightage. You have to attempt only one of the choices in such questions.
(v)  You may use the following values of physical constants wherever necessary.

c=3%108 m/s

h=6.63x 10734 Js

e=1.6x10"19C

o= 4 X 10-"TmA~!

£,=8.854x10"12 C2 N~ 1 m~2

1

=9x10? Nm?2 (2
4’1T80

Mass of electron=9.1x 103! kg

Mass of neutron=1.675x 1027 kg

Mass of proton=1.673x 1027 kg

Avogadro’s number = 6.023 X 1023 per gram mole

Boltzmann constant=1.38x 1023 JK !

55/2/N 3 P.T.O.
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Qug - A

SECTION - A

el ¥ TR TH TR Fl TRl <@ U 7 3Hh AU SR qiereAT &1 AW
fafaT |

Why can’t we see clearly through fog ? Name the phenomenon responsible
for it.

5 ' & Tt =, 59 g W =R 3 ey ‘o fed € & IRl R fore
33T Q i g X U T s e Siran ®2

What is the amount of work done in moving a point charge Q around a circular

arc of radius ‘r’ at the centre of which another point charge ‘q’ is
located ?

2 MHz 3Tgfd &1 &l @ a1 W &5 5 kHz Tgd &1 fama smam Arglad
B SO U SUEl T STgAT A € 2

A signal of 5 kHz frequency is amplitude modulated on a carrier wave of
frequency 2 MHz. What are the frequencies of the side bands produced ?

AR U & FHUSTAA! T T T HRUT & Fohdl & 7

What can be the cause of helical motion of a charged particle ?

fopdt AT A& ohi Taeiterar i aRYm fafew | 9 fagifa s 9 o 9ey

7?2

Define mobility of a charge carrier. What is its relation with relaxation

time ?

55/2/N 4
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Qg - d
SECTION - B

6. 3TMYR ove famd = WY & Ifva = 1= fovan ST ? SE ) wrw fafau 2

Why is base band signal not transmitted directly ? Give any two reasons.

7. NG H T ATER *ig o PQ fUSH BAC & 3Tdadi Waleh BA W 3(Mfad 2
BT 3H 3T AUed] ®eish AC § RS & ®9 ¥ 39 YR fifd 2l €, fF AQ=AR

g1 afe frsm wim A=60° o1 =8 & uered 1 STuadaiR 3 ®, @ I 0

qRehfeTd ShiTeTT |

A ray PQ incident on the refracting face BA is refracted in the prism BAC as
shown in the figure and emerges from the other refracting face AC as RS such
that AQ=AR. If the angle of prism A =60° and refractive index of material

of prism is +/3, calculate angle 6.

8. W& frdt 0.1 m W™ AR & U W 5V faqa=R o Sar €, @ SodeHl & 2
3ATE I 2.5 10~ 4 m/s BT T AfE AR & Soiae™ o 8x 1028 m—3 %, @1

AR & ggred i Tialieehar IRerfad it |
When 5V potential difference is applied across a wire of length 0.1 m, the drift

speed of electrons is 2.5x 10~ % m/s. If the electron density in the wire is
8% 1028 m ~3, calculate the resistivity of the material of wire.

55/2/N 5 P.T.O.
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9. TN T % IS TagH § H -X@C & I< ol &7 39 gmuo 2
SRSt hieH &l 3T TRekferd ST |

SPEN

o C oo \l’

TS T | 56 SAFRHA n= 0 ¥ n=1 T FIE HAT &, T8 SATSIq T
T qTesd Yiahfad Sifsg |

When is H  line in the emission spectrum of hydrogen atom obtained ?
Calculate the frequency of the photon emitted during this transition.

OR

Calculate the wavelength of radiation emitted when electron in a hydrogen

atom jumps from n= o ton=1.

10. fRE Wl 91 o~ & GAH favea=R 9 @fd fear T g1 =8 4 feasr 2
(i) < et qiesd atfys, iR (if) Tfast o1 H T2 319 ST ! I Hife |

A proton and an «a particle are accelerated through the same potential
difference. Which one of the two has (1) greater de-Broglie wavelength, and
(11) less kinetic energy ? Justify your answer.

@ us - ¥
SECTION - C

11. SRR hl Yehel-fagd o foaed § 3TN 8H 9l Wil & o Hgequl 3
TN 1 IeeiE T | TS ki GHIRIUT 1 ITANT hleh adl T i
F g STavId UTE Wiger () TR fava, ok i) <eell smgfa &t gikar
fafeq |

State two important properties of photon which are used to write Einstein’s
photoelectric equation. Define (1) stopping potential and (i1) threshold
frequency, using Einstein’s equation and drawing necessary plot between
relevant quantities.

55/2/N 6
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12. () o1l 9UE AN F AR W fordt ameres IR sref=amass & o= fadeq wifsg) 3

(i) = fou e e ¥ Tt e & Faeht O &9 (A, B) a1 fid a1 &9 (Y)
TIMT T &1 39 W & YBAIMT, THh! Heaw™ RO feafgu oK ek gdien
Gifau |

A

0 1 2 3 4 5 6 ™%
(1) Distinguish between a conductor and a semi conductor on the basis of

energy band diagram.

(1)) The following figure shows the input waveforms (A, B) and the output
waveform (Y) of a gate. Identify the gate, write its truth table and draw
its logic symbol.

A
B
Y
O 1 2 3 4 5 6 1
55/2/N 7 P.T.O.
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13. (a)

(b)

(a)

(b)
14. @)

(i1)

@)

(i1)

15. @)
(ii)
@

(i1)
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fonet Yearufaea Tifyer o T3 o WeAufora &@ o1 X & fa9 & fou
T =STeh cusl it |

fordt feu v Yfediufaea Mfyew &1 oiaa oy Su* em-feeris (fasea-
feoien) ¥ fF9 YR Gafa 2

Derive the mathematical expression for law of radioactive decay for a
sample of a radioactive nucleus.

How 1s the mean life of a given radioactive nucleus related to the decay
constant ?

o frdt AC &1d o1 fordt 21eet deanfia @ daifea foran San, a1 9 <9risy
o T W =k W I g S siied wfe I Bt B

2 aedl fhat Iiedt i 9 A.C. Ba & Joft A § Taifsd 81 39 sied
I I9h H F e T 9 IRug F @ fom s & R gy i

IR bl Y- Ser™ S § 2
o=

(e

When an AC source is connected to an ideal capacitor, show that the

average power supplied by the source over a complete cycle is zero.
A bulb is connected in series with a variable capacitor and an A.C. source
as shown. What happens to the brightness of the bulb when the key is
plugged in and capacitance of the capacitor is gradually reduced ?

Cy @')Bulb
N

00—

TR o T HqeAd 9 fola Aremy | T X h YAl H BRI o addl
o & YR W & o1 90 o=l HifST |

qHIA qE 3R ety aimy & o9 fades &+ & fau emy difgu|

Derive Snell’s law on the basis of Huygen’s wave theory when light is

travelling from a denser to a rarer medium.
Draw the sketches to differentiate between plane wavefront and spherical
wavefront.
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16. () his ol fohet foma & 100 cm S0 W food 31 39 o< W forelt o i@ &t 3
31 feafel, fer o= &1 g8 20 cm B, % fau gfafes sa €1 <9 &t
Hikd g8 gftenferd whifse |
(i) hig AR ofF fordl TaHr) <9 & THIer Greh | 1@l § 991 SFl 9l &
HIhE GRAT IHM § | T9 WA 1 R S 1§ 2

(1) A screen is placed at a distance of 100 cm from an object. The image of

the object is formed on the screen by a convex lens for two different
locations of the lens separated by 20 cm. Calculate the focal length of
the lens used.

(i) A converging lens is kept coaxially in contact with a diverging lens - both
the lenses being of equal focal length. What is the focal length of the
combination ?

17. gl ToEdE @R[ Mo @i & RO (1) T & 9-d 91 (i) @d & fiae 3
fret fog W forpq &= T 9@ ST @i & &= 950 3R fagq &9 &

S UT% Gy |

Find the electric field intensity due to a uniformly charged spherical shell at
a point (1) outside the shell and (i1) inside the shell. Plot the graph of electric
field with distance from the centre of the shell.

18. ST TN R YERU R 827 37 el o] 3ol HIfST Sl 39h TR & 3§
IR o1 HifAd wtd § 1 SRR T gR YER & faw @ TRAed % s i
stfyeshan gfte &g gt o ot =5 e =i |

What is space wave propagation ? State the factors which limit its range of

propagation. Derive an expression for the maximum line of sight distance
between two antennas for space wave propagation.

19. 1.5V emf & T 999 Hal ol T¥d | GAINSG o¥h IRd | §Afvd 7 Q &k @ 3
Jiaierent < 9@l 9Ray & fogq &1 ogfd &1 i g1 oIfd s= gfaiy & fee
SeeHi? W 37 Fadl i it dieedr 1.4 V AT St €1 Ui 9 &1 J=ieh
yfaiy aRefad wifeu |
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21.
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Two identical cells of emf 1.5 V each joined in parallel supply energy to an
external circuit consisting of two resistances of 7 () each joined in parallel. A
very high resistance voltmeter reads the terminal voltage of cells to be 1.4 V.
Calculate the internal resistance of each cell.

() 37 < " ihAted ®1 AW fafae s pn €Y F9d ¥ B S

() ol T foewrd w1 fogq aRuy fasht o) ffa &0 w491 |@fea @ifaw)
T # =ren it fR frfa dieearam fea yeR e fofie a2

(1) Name two important processes that occur during the formation of a pn
junction.

(11) Draw the circuit diagram of a full wave rectifier along with the input and
output waveforms. Briefly explain how the output voltage/current is
unidirectional.

TR o1 g fram fafaw) g9 fem o1 STEr &t 919 3w farq ot
ITeTsh T EHE & HG BT | FrEehig & W@ fer fogm e et 3

forg TR T4 Bl © 2

SREN

qEaare o1 fagra faf@u | a7 guisy T dsaciieq ¥ &l &l IRehHI-Fd
IRt =Tl R AR =T war | AEagE % g=ed o A I8 07 evas Al
€2

State Ampere’s circuital law. Use this law to find magnetic field due to straight

infinite current carrying wire. How are the magnetic field lines different from
the electrostatic field lines ?

OR

State the principle of a cyclotron. Show that the time period of revolution of
particles in a cyclotron is independent of their speeds. Why is this property
necessary for the operation of a cyclotron ?

55/2/N 10
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23.
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fore[q R T ohE TR 3T BIT © 2 S A1l i Soll b1 &I 31 BT © 7

z-3181 o Y =)0 LA dreit Tt faR[d-grerehia ai o fo=[d ud Jrrehid
&3l & T i =isH fafew ) faga g @ & g o 10 farau |

How are electromagnetic waves produced ? What is the source of energy of
these waves ? Write mathematical expressions for electric and magnetic fields
of an electromagnetic wave propagating along the z-axis. Write any two
1mportant properties of electromagnetic waves.

@ ug - g

SECTION -D

GrHT o =Tl Sl e A Af&dsh &l MRI (FHhd AR f==or) shaeterm
FHUA K T A1 Ik ArE1 S Rl F8 Hew o SR 9 36 TR S 9wd
g

& "I ® A% FG geN, O SEA o9 URER ¥ wWeEar off iR efax ¥
grgeh ot foRan o1 3= f s & @ § AR ©L <A K1 A faan g9
e T A ST9H = Sit Skl 39 qi& & fau w7 forn, aifer 3R wfask @6t
fearfd o aR H 1 8 G | G0 § I THBRI 7 Siael &l 3fad sars! &
H ercaferen werd < |

I T o TR W = feu U ye= & Sw e

(a) 3ok foaR | €1, 3ok IRAR T S R Tohd el i T 1§ 2

(b) MRI TeT0 & 3Tcafeeh Hed &M 1 91 qeifad ROl & Hehdl § 2

(© I8 HHd g fF MRI T8I0 0.1 T o Jrelenld &3 1 ITANT ik fohall T,
3G Y (AEAN=1.6x 1019 C) W, S 104 m/s i =T G TAHA o,
TEh &5 GRI AN ol b1 a9 3R tfushad A A1 hiforg |
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Seema’s uncle was advised by his doctor to have an MRI (Magnetic Resonance
Imaging) scan of his brain. Her uncle felt it to be expensive and wanted to
postpone it.

When Seema learnt about this, she took the help of her family and also
approached the doctor, who also offered a substantial discount. She then
convinced her uncle to undergo the test to enable the doctor to know the
condition of his brain. The information thus obtained greatly helped the doctor
to treat him properly.

Based on the above paragraph, answer the following questions :

(a)

(b)
(©)

24. (a)

(b)

55/2/N

What according to you are the values displayed by Seema, her family and
the doctor ?

What could be the possible reason for MRI test to be so expensive ?
Assuming that MRI test was performed using a magnetic field of 0.1 T.,
find the minimum and maximum values of the force that the magnetic
field could exert on a proton (charge = 1.6 x 10 712 C) moving with a speed
of 104 m/s.

Queg -9
SECTION - E

U L GIeEe § 8 S WM 9l SYfod IR it diedn § fa=e
i foar < g2

3@ i HWEAA § I <M o Jahiv R fohd TR §d 9 31 aren
geRTel YfEehd: ¢fod & S 2l

I waEw dierie wie Py, P, P, 39 TR sAfufa=nfad 8 f& p, 3R
P, % I 318 P, & TR 2781 § L 60° SR 90° 10T o 21 fost #
TYMT THR P, o WA I, ol 1 hig STgfad Tehavl Jerrsl @id S feord
g1 TIeRFE P, P, o W& 0 6= 30° 3R 60° T 0N FH T foreh
&tk O N fe@iE 29 9t Yol i digare A shifeid |

ne
Qe
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AT
(@ 7k fg o’ 79 o gum=R & foau s oo Hifee qo1 Te & fohdt
fog ™ Hust =AfaeR SR ol =faee & fae o o s
b T F f5 o ¥ F= sfEe w dew 1,71 39 fag W e 9@

aWaN g }\ )\ )\
°h||\¥|1\7|l“l%||*<|{—,—?‘[9ﬂ— |
q S8 5 1 3%

(a) Why does unpolarised light from a source show a variation in intensity
when viewed through a polaroid which is rotated ? Show with the help of
a diagram, how unpolarised light from sun gets linearly polarised by
scattering.

(b) Three identical polaroid sheets P, P, and P4 are oriented so that the pass
axis of P, and P5 are inclined at angles of 60° and 90° respectively with
the pass axis of P;. A monochromatie source S of unpolarized light of
intensity I is kept in front of the polaroid sheet P, as shown in the figure.
Determine the intensities of light as observed by the observer at O, when
polaroid Py is rotated with respect to P, at angles 6 =30° and 60°.

ne
Oe

Py Py P3
OR

(a) Derive an expression for path difference in Young’s double slit experiment
and obtain the conditions for constructive and destructive interference
at a point on the screen.

(b) The intensity at the central maxima in Young’s double slit experiment

is I. Find out the intensity at a point where the path difference is A, A
6 4

A
d —.
an 3

55/2/N 13 P.T.O.

QB365 - Question Bank Software




25. (a)

(b)

(a)

(b)

(a)

(b)

55/2/N
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SUIH NG i HeEdl § fhdl am fogq & o feom ol wmas oI
RIAEA % FaeR H faved wifve | gfaq waga fod geR qa faga e
I BIART HLT § 2
oIRdl C & forelt SURA 1 emf E &1 fhEl o8 g1 qoa: smafema fowan
ST €1 $Hoh YN ST de ¥ HFeh hie el Sl g1 379 At deiid
1 qfgahtstl & ot &1 gUhd & A1 w foar we, @ fefateaa |
e B ?
() TYRA ¥ Hfead o1av |
(i) Ufgwedl & = & i el
(i) G g0 Wiea el |
g fegfd # o1 S & gie wifew|

U1
oy hifere fop fordl oft srer-fomma & fau fordl ot fomg @ oA e
gufayg 7= 39 fag W for &9 & SAfiersed 2 g1
forell Tl STATT (—q) o RO FHGHT &I I ST o &R faga &
@3 I Uid gC SARFET whifsre |
T STRE # UMW STAR ST ‘2’ o fohdl] FHaTE A & el W fEe@ @
AN & T =1 fosufed &0 & faw fow M 9t @ & fau =se 9=

it |

—4q a +2q

Distinguish, with the help of a suitable diagram, the difference in the
behaviour of a conductor and a dielectric placed in an external electric
field. How does polarised dielectric modify the original external field ?
A capacitor of capacitance C is charged fully by connecting it to a battery
of emf E. It is then disconnected from the battery. If the separation
between the plates of the capacitor is now doubled, how will the following
change ?

(1) charge stored by the capacitor.

(1) field strength between the plates.

(1) energy stored by the capacitor.

Justify your answer in each case.

14
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OR
(a) Explain why, for any charge configuration, the equipotential surface
through a point is normal to the electric field at that point.
Draw a sketch of equipotential surfaces due to a single charge (—q),
depicting the electric field lines due to the charge.
(b) Obtain an expression for the work done to dissociate the system of three
charges placed at the vertices of an equilateral triangle of side ‘a’ as shown

below.
q

—4q a +2q

N0

26. (a) 9 fordll BT g &I, HeamHel § FgIfad, fhel FUea! &I IR Agar 5

Y R koAl S €, 1 feoHHIeR o1 Sehash faaifua S 3a fagmo
% foTU SHErET 9t &1 gg=nfu 3R 37 ShReh! &l Seai@ Shife 59 |
3g fagmor =1 ufmmor &iR fogn ek =t ©1 38 uferen &1 9uF & 9
i =1 fafau

(b) & FE THEE [ AR 0" R F =6d s PQ, foF § 9T ST{9R T
AN FrEiE &5 H feq Rl TR =ees W 91 v § A 3R ¢ & o=
T &9 9 -3 (A HLdl &, 9 T, emf R g1 H IRadq @l

AR whifeT |

. . e P .
Be [ ° o
] oA ] Q . C
x=0 x=b x=2b

AT
fhdl a.c. Aeedl v=v_ sinot ¥ HIAMSTd LCR 24Ul 99y | o & foq =S
Fcqel A ok fIT HeR R@ 1 ITAN HifeC | 379 30 qRuy # arfaa oife
% ST YT HIWC | Ig STSY T TR o THA ifushan vfo & 8l ©

55/2/N 15 P.T.O.
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(a)

(b)
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When a bar magnet is pushed towards (or away) from the coil connected
to a galvanometer, the pointer in the galvanometer deflects. Identify the
phenomenon causing this deflection and write the factors on which the
amount and direction of the deflection depends. State the laws describing
this phenomenon.

Sketch the change in flux, emf and force when a conducting rod PQ of
resistance R and length [ moves freely to and fro between A and C with
speed v on a rectangular conductor placed in uniform magnetic field as
shown in the figure.

. . e P .
Be [ ° o
] oA ] Q c C
x=0 x=b x=2b

OR

In a series LCR circuit connected to an a.c. source of voltage v =v_, sinot, use

phasor diagram to derive an expression for the current in the circuit.
Hence obtain the expression for the power dissipated in the circuit. Show that
power dissipated at resonance is maximum.

55/2/N
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SET 55/1/1/N
MARKING SCHEME
Q. No. Expected Answer / Value Points Marks | Total
Marks
Set1,Q1 SECTION A
Set2,Q2 | Zero / No work done / None 1 1
Set3,04
Set1,Q2 . . g _ Ug Ya
Set2.05 Drift velocity per unit field (u,,, = /E)
Set3,Q3 Ya 1
Up X T
(directly proportional to relaxation time)
Set1,Q3 | Charged particle moves inclined to the magnetic field
Set2,Q4 3 D ; T
Set3.02 (angle between 1_? and B is ne_)lther /2 nor 0) L L
(component of 9, parallel to B , is not zero.)
Set1,Q4 (some) light gets deviated / scattered / absorbed Yo
Set2,Q1 Scattering of light Y 1
Set3,Q5
gzg'gg Vside bands = Ve £ Um &
Set3.QL | = 2005 kHz ; 1995 kHz Y2 1
(Give full 1 mark if the student straightaway writes the answer as 2005 kHz
and 1995 kHz)
SECTION B
Set1,Q6 Formulae: 1
Set2,Q8 Substitution and calculation: 1
Set3,Q7 ]
Rzpz;I:neAvd 1
R
P = nelvy Ya
Alternatively,
, E E
j=0E = —or 7 =p
4
P = Inevy
(Award this 1 mark even if the student writes the formula for p directly as
such)
> Q
= —-—m
P 0Ix8x 1028 x 1.6 x 10719 x 2.5 x 104 Y
=156 %x10"°Q—m 1
~1.6x10°0—-m & 2
Page 1 of 22 Final Draft 11/03/16 2:00 p.m.
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SET 55/1/1/N
Set1,Q7
Set2,Q10 Formulae Yo + s
Set3,Q8
Conclusions in the two cases Yo+ Y5
. h h
(yA==2=
p 2mqV i
*+ (mq) is more for a — particle, we have
Aproton > Aoc —particle Y2
A
(Also, accept if the student writes %ﬂm = 2v/2 (or \/8)
a
(i KE.=qV
« ¢ is less for proton, we have Y
(K- E)proton < (K- E)a—particle 1 2
. . K.E.
(Also accept if the student writes L =2)
(K-E),
Set1,Q8
Set2,Q9 Indicating the transition 1
Set3,Q6 Calculation of frequency 1
When the electron jumps from the orbit with n=3 to n=2
(Longest wavelength of the Balmer series / First line of the Balmer series) 1
E, E
h9 = E; —E, =?1_Tl
-5 -5
= — = == — 1
536 E; e X (—13.6 eV) 7z
= X 13.6 X 1.6 x 10719
Y = 5 x13.6 X1.6 X 1_0-19 Hz
36 X6.63 X 10734
= 4,57 x 10 Hz. Ya 2
. : =5 E;
(If the student just writes 19 = 6 h award %2 mark)
(Alternatively,
_p(i_ 1\-2 Y
A R (22 32) 36 R
. 19 —_ ¢
AT
= X —
c 36R
=3 X 108><i>< 1.097 x 107Hz
36 ' Y2
~ 4.57 x 10*Hz)
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OR

Formula 1
Calculation of 4 1

1

1_ (1 1
1= R(m =)
=R
1

= m
1.097x107
~9116 X 1078 m

~ 912 A° (91.2 nm)

Y2

Y2

Set1,Q9
Set2,Q6 Two Reasons 1+ 1

Set3,Q10 | |f base band signal were to be transmitted directly
1. The height of the antennae needed will be impractically large.
2. The effective power radiated would be too low.

up with one another.
(Any two)

3. There would be a high probability of different signals getting mixed

1+1 2

Set1,Q10 e . .. N
Set2,87 Identifying that 6 is the angle of minimum deviation

Set3,Q9 Formula'
Calculation of

Yo
Yo

Since AQ = AR, we have
QR|| BC
=~ @ is the angle of minimum deviation.

(Alternatively: Since AQ=AR, we get
47”1 = er
~ @ is the angle of minimum deviation.)

sin (A +26m)
sin(A/ 2)
in 60 + dm
=)
sin 3(2)0

. 60+ém
=Ssin ( )

2
. 60+dm

= 60
or 6m=60°

l/t:

ola 5

Yo

Yo

Yo

Yo 2
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SECTION C
Set1,Q11
Set2,Q17 Statement of Gauss’s Law Yo
Set3,Q22 Calculation of field
(1) Qutside the shell 1
(ii) Inside the shell 1
Graph Yo
- —
We have by Gauss’s law § E.dS = w 1
0]
Let Q be the total charge on the shell
(1) For the point M outside the shell, we have
oM
ll
S
Q
E.4nr? = —
€o Y
1 0
N FE = —
Ame, 12 7
(ii) For the point N inside the shell, as charge enclosed inside the shell is | |
zero. 1;2
E.4mr? =0 ’
The graph is as shown
1 0 '
4JTEOE _____________________
Yo
E
3
R
r ——>
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Set1,Q12
Set2,Q19 Formulae 1
Set3,Q21 Calculation of r 2
We have, for a single cell,
E
r= (V - 1) R 1
~ For the parallel combination, as given in the question,
r (E 1) R .
2 (V " 2 %
r= (1— - 1) X 79 Ys
0.1
= ﬁ X 70 Ya
=0.5Q Y
(Alternatively,
E rQ
I A
Y
| AM
. (o 70
AMA
A
70
I —V 15
— 2
(®/2)
AndE =V —1("/,) Y5
L 1.4 1
This gives | = 7A =0.4A &
2
.5—-1. 1
s l=22220025 &
2 0.4
~7r=05Q) s 3
( Note: If the student just draws the circuit diagram of the setup but does not
do any calculations, award 1 mark only.)
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Set1,Q13
Set2,Q21 Statement of Ampere’s Circuital law 1
Set3,Q20 Finding Magnetic Field 1%
Differences between the two types of field lines %2
According to Ampers’s circuital law, “ The line integral of the magnetic field,
around a closed loop, equals y, times the total current passing through the | 1
surface enclosed by that loop.”
Alternatively,
$B.dl = p,l
For the infinite current carrying wire, we get 1,
B.Sﬁ dl = #01 1
or B2rmr = pu,l Yy
1
or B=£2
21T PN
“\\‘\ﬂ-‘ - "””1
1 §
The magnetic field lines form closed loops while- the electric field lines | 1, 3
originate from positive charges and end at negative charges.
OR
Principle of cyclotron 1
Independence of time period from speed 1%
Necessity of this property Yo
The cyclotron uses both electric and magnetic fields, in combination, to
increase the energy of the charged particles. 1
(Alternatively: Cyclotron uses

() A magnetic field to make the charged particles move in a circular
path.

(i) An alternating electric field which accelerates the charged particles as
they repeatedly cross it in a way that makes them gain energy
continuously.)

We have

mv? 5 y
— = qV 2
- q
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mv
LY = —
qbB
21r
AlsoT = — Yo
1%
_ 2mm Y,
qB
~ T is independent of v, the speed of the charged particles.
This property ensures that if the frequency of the applied alternating electric
field matches the cyclotron frequency, the particle whould keep on getting | %2 3
accelerated every time it crosses the gap between the dees.
(Alternatively : Because of the property, the applied alternating electric field
can be made to accelerate the charged particles continuously.
This property ensures that the resonance condition can be satisfied and the
particle gets accelerated continously.
This property ensures that we can have 9 = 9., the resonance condition.)
Set1,Q14
Set2,Q14 Showing that the average power, over a complete cycle is zero 2
Set3,Q19 Effect on brightness of bulb 1
Q) Let the applied voltage be
V = Vysinwt
The current through an ideal capacitor , would then be
T
[ = Iysin (wt + E) =-Iycoswt 1
 Pinst =1VIT
w Pay = =y Vide Y
Volo .
. PN = (sin2wt) &
=0 v,
(Alternatively ,
For an ideal capacitor, the current leads voltage in phase by 7T/Z.
.p= Fol _Folo T
s P = ﬁﬁcos(b S COS ~
=0 )
(i) The brightness of the bulb would also reduce gradually. 1
(Alternatively:
1
¢ wC
~ X. increases as C decreases.Hence, with decreasing C, the 3
brightness of the bulb would decrease.)
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Set1,Q15 -
Set2,822 Production of e.m. waves 11/2
Set3,Q18 Source c_)f energy _ o o
Expressions for electric and magnetic fields % + %
Any two properties Yo+ Yo
£.M. waves are produced by accelerated /oscillating charges. Y2
Source of energy is the source that accelerates the charges
Expression for the electric and magnetic fields (for an e.m. wave propagating | 2
along the z — axis ) can be
E. = E, sip(kz — wt) ,
B, = .BO sin(kz — wt) "
Properties (any two)
Q) Transverse nature
(i) Have a definite speed (for all frequencies') in-vaccum
(iii)  Can be polarized
(iv)  Can show the phenomenon of interference and diffraction
(v) Can transport energy from one point to another
(vi)  Have oscillating electric and magnetic fields along mutually
perpendicular directions
(vii)  Have a momentum associated with them.
(viii)  Their speed , in a medium , depends upon the values of u and ¢ for
that medium. Yo+ |3
Set1,Q16
Set2,Q15 (i) Derivation of Snell’s law 2
Set3,Q17 (i) Sketches to differentiate between plane wavefront and spherical
wavefront 1
(i)
hddmtwa\nt
Yo
We have BC=9,7 and AE = 9,7 Yo
i BC . AE 1
Also sini = —andsinr = —
AC AC
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sini BC Y9, n,
“sinr AE 9, ny
= a constant ”
This is Snell’s law. 2
(if) Plane wavefront
., b,
Spherical wavefront
Ya 3
Set1,Q17 -
Set2,Q11 Two properties of Photon Yo+ Y5
Set3,Q16 Writing Einstein’s equation Vs
Definition of stopping potential () Yo
Definition of Threshold frequency (v,) Yo
Plot between I/, and v Ya
Properties of Photon
(i) For a radiation of frequency v, each photon has an energy, £ = hv,
associated with it
(ii) The energy of a photon is independent of the intensity of incident
radiation.
(iii)During the collision of a photon, with an electron, the total energy of
the photon gets absorbed by the electron.
(Any two) Vot 2
Einstein’s photoelectric equation is
1
Kimax = hv — g G
or eVO - hU - d)o
(a) Stopping potoential, V,, equals that value of the negative potential for v,
which
|eV0| =Kmax
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(Alternatively:
The stopping potential (V) equals that (least) value of the (negative)
plate potential that just stops the most energetic emitted
photoelectrons from reaching the plate.)
(b) Threshold frequency (¥,) equals that value of the frequency of |1
incident radiation for which K,,,,, = 0.
(Alternatively:
For a given photosensitive surface, its threshold frequency is the
minimum value of the frequency of incident radiation for which
photoelectrons can be just emitted from that surface or that maximum
frequency of incident radiation below which no photo emission takes
place.)
The plot, between V, and 9, has the form shown:
Yo 3
v,
© v, e g
Set1,Q18
Set2,Q20 (i) Naming the two processes Yo+ Vs
Set3,Q15 (i) Circuit diagram 1
Input and output waveforms Yo
Unidirectional nature of output voltage/current Yo
(1) Diffusion and Drift
[ Also accept if the student writes Yo + 1
a) Appearance of a BARRIER POTENTIAL across the
junction.
b) Formation of a DEPLETION REGION on either side of the
junction.]
(ii) Circuit diagram Centre-Tap
Transformer
T Diode 1(D,)
X
— Diode 2(D,) %RL Output
= " 1
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Input and Output waveforms.
» W

=

Waveform at A

v
~

Input waveforms

Waveform at B

Due to

D, /

Due 1o Duae to
D,, | D,

Due Lo

Py

(across R, )

ANV
'(m\/

Output waveform

*

[Note: Award this %2 mark even if the student draws the output waveform

only.]

Because of (i) the use of the centre tap transformer and (ii) the manner in
which the load is connected, the voltage across/current through, the load has

the same direction during both halfs of the input wave.

Yo

Yo 3

Set1,Q19
Set2,Q12
Set3,Q14

(i) Identifying the gate
Truth Table

Logic symbol

Q) Distinguishing on the basis of energy band diagram Y2+%

1
Yo
Yo

(i)

Overlapping
/ conduction band
(E,=0)
E,
Ec Valence
band

Conductor

Electron energies

Yo
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g | |
5 E,<3eV 1
. .
k2 Ey
8
[
Semiconductor
(1 The gate is a NAND gate 1
Truth Table of NAND gate
0| 0 1 &
0| 1 1
1] 0 1
1|1 0
Logic Symbol
A
*—— Y
AP
B
Y 3
Set1,Q20
Set2,Q18 | | Space wave propagation 1
Set3,Q13 | | Factors that limit the range of propagation s
Derivation of the expression 1%
Space Wave Propagation
The mode of propagation in which radio waves travel, along a straight line, 1
from the transmitting to the receiving antenna.
Limiting Factors
(N Curvature of the earth Y,
(i) Insufficient height of the receving antenna
(Award this ¥2 mark if the student writes any one of these two factors)
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Derivation
NS
h ”
Transmitting :
Antenna i
i g Limiting
' ,/’/,:,- Receiving
R p ” " Point
i R
From the figure, we have
(R+h)* =R*+d”
Or Y
2Rh = d?(as h? << 2Rh)
&, d = V2Rh
For a transmitting antenna of height h;, and a receiving antenna of height hg,
the maximum line of sight distance becomes
dy = 2Rhr + J2Rhy " 3

Set1,Q21
Set2,Q13
Set3,Q12

Q) Derivation of the mathematical expression 2Y5
(i) Relation between mean life and decay constant %2

Q) Let there be N, radioactive nuclei at t =0.

If N is the number of nuclei left over at t=t, we have

—dN N
—
dt

or _Ccll—iv = AN (A = decay constant)

LA Adt
S

or InN = —At + constant
~ At t=0, we have
InN, = constant

Yo

Yo

Yo

Yo
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InN = —At + InN,
N
or In|—)=—At
¢
+ N = Noe—lt
(i) Mean life= ! e ,

decay constant

. 1
(Alternatively, T = Z)

Set1,Q22
Set2,Q16
Set3,Q11

(1 Calculating the focal length of the lens 2
(i)  Calculating the focal length of the combination 1

(1) For first position of the lens , we have
1 1 1

fy (=%

screen

For second position of the lens , we have
1 1 1

f y—20 (—(x+20)

1 1
(y—20) (x+20)

1 1

y T xT

x+ty _ (x+20)+ (y—20)

Xy o (y—20)(x+20)

~xy = (y—20)(x + 20)
=xy—20x+20y-400

Ya

Yo

Yo

~x—y= —20
Also , x +y =100
~X=40cm
and y =60 cm
Ll 1123 5
T fF 60 —40 120 120
Yo
~f=24cm
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Alternatively ,
We have
D2— g2 1
f= 4D
_100%-207 1
T 4x100
__ 120 x80 1
T 400
=24cm
Alternatively,
For the two positions of the lens , the values of the magnitudes of u and v, get
interchanged. 1
Hence , |u + v| = 100 1
|lu — v| =20, This gives |u| =60  |v| =40 A
o f=24cm Y

Alternatively ,
L,

L,
o /\ 1
+«—— x(cm) x —*
\/ \/ Yo
20cm —»

2x + 20 =100
s x = 40cm Ya
For lens at position L; ; u = - x =-40cm Yo

v=20+40=60cm Yo
This gives f =24 cm

Q) For combination of two lenses in contact .
Net Power of combination ,

P=Ps +P, 7
P1:+ P s Pz =-P
So P=0 and F= infinite Yo
wely L= L4 1
Alternatively , P + ra Y,
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1 -1
=—++ (—) = O
f f
F = infinite Yo
Set1,Q23
Set2,Q23 (a) Values displayed Yo+ Yo+l
Set3,Q23 (b) Possible reason Y
(c) Formula for force Yo
Max. value 1
Min. value Ya
a) Value displayed by
Seema : Helpful , considerate o
Family : Concerned , Affectionate 72
Doctor : Humane nature 2
(any one in all three cases)
b) Expensive machinery/technigue 2
c) F = quBsin6 7
Enax = quB = 1.6 x 10712 x 10* x 0.1
= 1.6 x 107 16N 1
Fin=2er0 (for8 = 0°) Vs 4
SECTION E
Set1,Q24 a) Difference between the behaviours of the two (2+%)
Set2,Q25 Modification of electric field. 1
Set3,Q26 b) (i) Charge stored + justification Yo+ Y
(ii) field strength + justification Yo+ Y2
(iii) energy stored + justification Yo+ Y2
a) Yot Y
E,
THeleciris
No electric field inside a conductor .
(Give full credit to diagram. Give ¥ mark if explanation only is given without
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diagram)

Induced electric field ,due to polarisation of dielectric, is in opposite direction | 1
to the applied field.

Enet = Eo — Ep
(b)

() Charge remains same, as after disconnecting capacitor no transfer of 72+ Y2
charge take place.

i i fi 29 i i i
(ii) Electric field, E = o cod remain same, as there is no change in 1 + 1
charge.
_9*_ q* _ q%d
(iii)Energy stored = - 2(@) = 2eod 1
a. Energy will be doubled as separation between the plates(d) is | y 5
doubled. 2
OR

a) Why is electric field normal to the equipotential surface. 1%
Sketch of the equipotential surface and electric field lines. % + %
b) Obtaining the expression for the work done. 2%

(a) If the field is not normal to an equipotential surface, it would have a
non zero component along the surface. This would imply that work
would have to be done to move a charge on the-surface which is

contradictory to the definition of equipotential surface. 17
(Alternatively,
Work done to move a charge dg, on a surface, can be expressed as
But dW=0 on an equipotential surface VA
“E 1 dr) Ya
Equipotential surfaces for a charge —q

1/2 .|.1/2

(b) Work done to dissociate the system

= -Potential energy of the system Y
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-1 [(-4 2 -4q)(2
_ [( 0 (q) 4 2q) () + (—49)(2q) 1
4mE, a a a
1 )
=— —4q* + 2q* — 8q*
Irena [—4q° + 2q9° — 8¢~]
2
_ . 10q v,
4meqa 5
Set1,Q25
Set2,Q26 (a) ldentification of phenomenon Yo
Set3,024 Stating the factors Yo+ Y
Law Yo
(b) Sketch of change in
i.  Flux 1
ii. Emf 1
iii.  Force 1
(a) The phenomenon involved is electromagnetic induction (EMI) Yo
For the deflection:
Amount depends upon the speed of movement of the magnet. Yo
Direction depends on the sense (towards, or away) of the movement of | %
the magnet.
The law describing the phenomenon is :
The magnitude of the induced emf, in a circuit, 1s equal to the time
rate of change of the magnetic flux through the circuit. Yo
(Note: Also accept If a student writes: whenever.-magnetic flux linked
with a conductor changes, an induced emf is setup in the conductor.)
. d
(Alternatively, € = —%)
OUTWARD | INWARD
(b) L —
Bib -
= } ; ; : 1
0 b 2b b 0
e 1
b 0
—_ 1 s
‘b -0
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OR
Phasor diagram Yo
Derivation of expression for current 1%
Power dissipated 2
Reason for maximum power dissipation at resonance 1
Phasor diagram
A1
.f VR 1
VL "\ wt+®
-
Ve
Using the phasor diagram, we get
2 _ .2 2
Vm = Vim t (VCm - VLm) &
orvz = i4[R*+ (X, — X,)?]
L :U—m Y2
BN A
- Xc—X
Also, tan ¢p = - - < "L
VR R
= the expression, for current, is
i =i, sin(wt+ Q) Ya
(Note: Award these two marks even if the student draws the phasor diagram /
does the derivation of i = i,,, sin(wt — ©) for X, < X})
Power dissipated:
The instantaneous power, p, supplied by the source, is
p= Vi
. . . 1
= (¥, sin wt) (i, sin(wt + ¢)) 1;2
I 2
=mTlm [cos ¢ — cos(2wt + ¢)]
The average power, over a cycle, is, therefore
Vi Y
P=<p>=mTLm (cos ) ’
= Vlcos ¢ Ys
At resonance, we have
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XC == XL %)
tangp = 0= ¢ = 0°
% Cos ¢ = 1, its maximum value. Y, 5
Hence P(=VI cos ¢) has its maximum value at resonance.
Set1,Q26
Set2,Q24 a) Reason for variation Vs
Set3,Q25 Polarisation due to scattering 2
b) Statement for Malus’ law Yo
Calculation of intensities for
(i) 6 =30° 1
(i) 0 = 60° 1
(@) As per Malus’ law,
Transmitted intensity 1=1, cos? @
. The transmitted intensity will show a variation-as per.cos? 6.
[Note: If the student writes that “_unpolarised light will not show any &
variation in intensity, when viewed through a polaroid, which is
rotated” award this ¥ mark]
1
Ta Observer
The electric field, of the incident wave, makes the electrons of the air y
2
molecules, acquire both components of motion. ( T as well as .).
Charges accelerating parallel to T, do not radiate energy towards the | 1,
observer. Hence the radiation, scattered towards the observer gets
linearly polarised.
( Note: Award these 2 marks even if the student just draws a well
labelled diagram, without giving any explanation.)
Page 20 of 22 Final Draft 11/03/16 2:00 p.m.

QB365 - Question Bank Software




QB365 - Question Bank Software

SET 55/1/1/N
(b) We have, as per Malus’s law:
[ =1I,cos?8 Y2
=~ If the intensity of light, incident on P;, is I,, we have
. . 1
I,= Intensity transmitted through P; = ;"
I 1
I,= Intensity transmitted throught P, = (;0) cos? 60° = - ”
For 0 = 309, we have
Angle between pass axis of P, and P3
=(130° +30°) = 60°
or (30° —30%) = 0°
I I
«. I3 can be either — Or —. 1
32 8
For 8 = 60°, we have
Angle between pass axis of P, and P3
= (30° + 60°) = 90°
or (30° — 60°) = —30°
. 31
~ I5 can be either 0 or 3—20 . & 5
[Note: Award the last (1+ % ) marks to the student even if he/she
calculates I; for only the first (or second) values of the angle between
the pass axis of P, and Ps3)
OR
a) Expression for Path difference 2Y
Conditions for constructive and destructive interference % +%
b) Finding intensities at points where path difference is
M e &
(ii) 4/ &
(iii)*/ Yy
(a) G
p
5 7 L
= [ [
d 22 N
I.// o § Y
b D—| 1
G
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Path difference =S,P — S;P
Now (S,P)2 — (S,P)?=|D? 9] - [p2 2’
ow (5,P)? — (§,P)?=[D? + (x +5) | - [D? + (x +3)
=2xd
where 5,5, =d and OP=x
. _ _ 2xd
= 5P = 51P= (S2P+ S, P) 1
For x<<D and d<<D, we can write 1,
S,P 4+ S,P = 2D
2xd_xd
Hence, Path difference= S,P — S, P= %:% Yo
For constructive interference, we must have
xd &
F =nl "
LX =X, = % (n=0,+1,+2,..)
For destructive interference, we must have
xd ( N 1)/1
p \""2 v,
, (n+5)a0
SX =X, = T ( n:O, il, i2, )
(b) The general expression, for the intensity, at a point is
I = I, cos? ®/2
(i)  For path difference =/1/6, ?=60° 2
_31
1="/,
(i) For path difference =4/ 4 ¢ =90° Y
_
1="°/,
5
. 1 Y
(iii)  For path difference = /3, ¢ =120°
_
1="°/,
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